











dA

B;)\?

() =1+

i
2 _ (O,















|

.|

QI
























<






Como exkrair a covariancia ou aarretagﬁa enkre
dAois parﬁme&ras do nma.pa de chi2?
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a,b— A, B









(5)=( 25 me)(s)
(A)=(= ) (%)

A=ca+sb,B=—sa+cb



covap = ((A — pa)(B — pB)) = (AB)
covap = ((ca + sb)(—sa + cb))

covap = (scb® — sca’® + (c* — s*)ab)

covap = sc(oj — o?)



PABO
aop = sc(oy
c(oy — o

(\



7% = (A — pa)?) = (4
7% = ((ca+ sb)?
0?4 . <02a2 —+ 82b2 -+ 2C8ab>

2 92 92 2 2
oy = Cc'o, + s°oy,

2 2 9 2 9
op = 8“0, + c 0}












a=cA—sB,b=sA+cB

1 1(/a)’
P(a,b) = S — exp (—2 ((0> + (

P(a,b)dadb = P(A, B)dAdB
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